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Doesn’t that WWO' dividing by
mean finding = of ’W” 7 is the same as
A *

28 is the same as
dividing 28 by 77
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multiplying by %?

To divide by a

number;, we can
multiply by its
reciprocall.
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I’n
explain.

7 and % are
reciprocals.

number by its

7x3=1=1,

so T is the

reciprocal
of 7.

When you
multiply a

reciprocal,
you get 1.

And
7 is the
reciprocal
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of 7-
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nis % * the re1¢ipr'ocal
of 7 is 2,

the reciprocal
of 3 is 3, and the
reciprocal
of % is n.*

*EXCEPT WHEN N=0, BECAUSE % IS LINDEFINED.
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So, you said that
[ fo divide by a
number; we can
multiply by its ANE
reciprocal. i*

means 217

- I already
knew how fo
lelde 21 by 7.

Hmmm... That’s
not very |
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Let’s see...
To divide, we
multiply by the
reciprocal.
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8 So,
‘gz fo compute
SO 21+
C\ 3/
9 .
we multiply
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really thought
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I never
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about it.

What does it
even mean fo

divide 21 by 372

Let’s start
with a problem
we know how to

What does it
mean to divide

It fokes
five 9’s

45+9is
the number of
9-pound snowballs
you can make with
45 pounds of

fo equal 45,
so 45+9=5.

words, since

Right.
So, how does
that work




